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WEST BENGAL STATE UNIVERSITY
B.A. Programme 5th Semester Examination, 2020, held in 2021

FMSGDSE02T-FILM STUDIES (DSE1)

SOCIAL CONTEXT OF CINEMA AND FILM LANGUAGE

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. &Nfee T 0Z TG LT T e T
Candidates should answer in their own words AT e CIRNT TRl FE&] 7T I
and adhere to the word limit as practicable. Geq e 291
GROUP-A
e+
Answer any three questions from the following 10x3 =30

Fefite @-ie foae e Tea wie

1. Briefly describe the characteristics of the French New Wave. 10
I Feac bifdfas cafiErefe sewce 39q Tl

2. What is Italian Neo-Realism? Explain its features with suitable examples. 2+8
O AAEIS! F 9 G AT ele I TR AN FCE!

3. How does a film manipulate time? — Explain. 10
(I8 HeTlobg TR eI FICS ST 9 — PN FCA

4. What are the different ways of manipulating space in film? — Discuss. 10
HEIOLCY EINCS ACIE WCol I [Kfen Aafoefs F1H o — Scstv= sl

5. Briefly describe the contribution of Bimal Roy in Indian Cinema. 10
OISR Fa0g Re F-GF SRl IKCHCA I T |

6. Discuss the role of New Theatres in the history of Indian Sound Cinema. 10
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7.

GROUP-B
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Write short notes on any four of the following:
feaferie @-I siEfe [Ew KFErd B! e
(a) Match Cut
5 F6
(b) Jump Cut
G~ F6
(c) Flash Back
I I
(d) Flash Forward
T FERTS
(e) ‘The Bicycle Thieves’ (1948)
wy AT RO (558Y)
(f) “The 400 Blows’ (1959)
T (PR RACYS (@& (50¢>)
(g) ‘Do Bigha Zamin’ (1953)
‘@ R SR (590 9)
(h) ‘Ek Din Ratre’ (1956).
‘@ e A@ (SpeV))|

N.B. : Students have to complete submission of their Answer Scripts through E-mail /
Whatsapp to their own respective colleges on the same day / date of
examination within 1 hour after end of exam. University / College authorities
will not be held responsible for wrong submission (at in proper address).
Students are strongly advised not to submit multiple copies of the same

answer script.
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